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Question Number : 1 Question Id : 3354726131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which district of Madhya Pradesh is ‘Omkareshwar termple’ situated? | He7 USH & e Mol § affemias Afer

Options :

1. ¥ Mandsaur district | #EeT FaT
2.« Khandwa district | a1 B@r

3. ¥ Ujjain district | 3= Far

4 % Jabalpur district | Se@qy ST

Question Number : 2 Question Id : 3354726132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the founder of Amritsar? | STHITEY & GEIHE H1 47

Options :

1. ¥ Maharaja Ranjit Singh | AW =T #g
2.« Guru Rarmn Das | T& T g

3. ¥ Guru Gobind Singh | & MiiHg g

4. ¥ Guru Teg Bahadur | T& 7 a5

Question Number : 3 Question Id : 3354726133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“World Water Day’ is celebrated on ______ of every vear. | “ora oa Teae, weawad_______ 1 AT 19T 2]

Options :
1. % 22nd March | 22 AR

2 % 1stMarch | 1 =
3. % 10th March { 10 7R=f
4 % 4th March | 4 A=t

Question Number : 4 Question Id : 3354726134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The draft population policy of which Indian state proposed a ban on people from government jobs for
violating legal age of marriage rules in 20177 | T IS 7= & AT SHGET Aid = 2017 § et o Tt & der
ST & el & ﬁﬂrcmﬁ ¥ AT O Wideres @ T W AT A7

Options :
1. ¥ Karnataka | #qicw

2. ¥ Meghalava | Feag
2. ¥ Orissa | F2m@T
4. <7 Assam | 9T

Question Number : 5 Question Id : 3354726135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Ivhthah RE% created hiStOI"j.T in the I'ECEI'ltl‘}.T concluded Wormen's OO0 World Cup tournament D}T _________ .,I'

BT &1 H T AigeT sNETeng pa wr gafde # ____ HEHGEIREEIL)

Options :
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1. % leading India to maxirmum number of victories in ODIS | SETeng § IR ®i Aqad § Siia &1 arferray a4 &

Pt

Tedty

2. ¥ taking highest number of catches | %= & TEFTA GEAT AHT

3.+ becoming leading run-getter in wormen's ODI | AiAT sEteng # smft 77 9= et

4. ¥ leading India to finals of the ODI World Cup | 2 1eTE e & o BTg-a 8 WRd ®1 Igqd #ea

Question Number : 6 Question Id : 3354726136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The highest civilian award of India 'Bharat Ratna' has been awarded to only two foreigners so far, One of them

is Nelsorl Mandela. The otheris_______ | U ety AT [OER AT T BN & a% o af T id & |-
el 12T g1 I8 | e e HSAT g gAY ______ EH
Options :

1. ¥ Mikhail Gorbachov | TiEEs T

2. ¥ Barack Obama | =T SiamT

3. ¢ Khan &bdul Gaffar Khan | & &g THEC G
4. % Sheikh Mujib-ur-Rahman | 97 geilea-3—Tga=

Question Number : 7 Question Id : 3354726137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The National Institute of Oceanography is locatedin ___ ) T g T e H o
Options :
1.v Goa | Tar

2. ¥ Vishakhapatnarn | fSemamg—a9
3. ¥ Mumbai | ga3
4. ¥ Kolkata [ ®lcamdl

B3

Question Number : 8 Question Id : 3354726138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Homwe ATy aAss0ciate bEIlI'lkS WIETE rnerged with the State Bank of India in the wear 20177 ,f Emf 2017 ﬁ Eﬁﬂvb-l
e S S dw STw S e & fier for my 4

Options :
1. % 4
2.5

4 # 7

Question Number : 9 Question Id : 3354726139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

According to Hindu mythology, who invented the musical instrurment Veena? | Tog TRt sramalf & argar, fe
T =TeT T T T ST Te T a7

Options :

1. ¥ Goddess Saraswati | 3o @teaal
2. <7 Sage Marada | & NS

3. ¥ Sage Parasurama | it TR
4. ¥ Goddess Lakshrmi | &t @gnr
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Question Number : 10 Question Id : 3354726140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to India State of Forest Report - 2015, which state has the highest forest cover in percentage terms?
| AR T o RHRE-2015 & egar, T T § uided o A # g1 &7 e @27 9+ H1aw 57

Options :

1. ¥ Madhya Pradesh | A7 0dar

2 % Andhra Pradesh | ST 0gar

3. < Mizoram | TeRIRTH

4. ¥ Arunachal Pradesh | SRR T

Question Number : 11 Question Id : 3354726141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0 .
Where is Sanskrit University located in Madhya Pradesh? | AeT Wes H @vgg foraiceraa g1 waT 27

Options :

1. ¥ Bhopal | {07
2. % Indore | 32T
3. < Ujjain | =

4. ¥ Jabalpur | S&@qT

Question Number : 12 Question Id : 3354726142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is located in Sidhi? | T ® & 219 |l o = 27

Options :
1. ¥ Kanha National Park | ®Tgl TP 320
2 < Bagdara Sanctuary | SgRT SR

5. ¥ Bannerghatta National Park | sFasT TP S2IH
4. % Bandhavgarh National Park | aTeemg TP J2rH

Question Number : 13 Question Id : 3354726143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following districts is the Pachmatha Mandir situated? | FaRET # @ Tomg e # t2mar Al &8m 27

Options :

1.« Jabalpur | Se@qt

2. ¥ Burhanpur | gREHYL
3. ¥ Barwani | 9=aMT
4

. ¥ Shahdcl | Tg=A

Question Number : 14 Question Id : 3354726144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwho among the following discovered Fachmarhi Hills? | 797 T # & forae =we T ugTies =t & & &7
Options :

1. % James Forsyth | <R STweT

2. ¥ Malhar Fao Holkar | Heg™ T §iaa
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3. ¥ Daulatarao Sindhia | g Wt
4. ¥ William Sleeman | TBfe=aq w&iET

Question Number : 15 Question Id : 3354726145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

14th Novernber as the Children’s Day is celebrated in whose honor? | s ST H 14 0% @1 S & w7 §
HATAT ATET 57

Options :

1. % Mahatma Gandhi | Fgrea et

2. ¥ Charlie Chaplin | =Tl 2t

3. Pandit Jawaharlal MNehru | TET FaTgeard Age
4, ¥ suphash Chandra Bose | T4 =g a6

Question Number : 16 Question Id : 3354726146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Who is India’s minister for roadways, highways and ports? | T2 A, AT T 92Ty & AW & 747 B 57
Options :

1. % Piyush Goval | dim mae

2. % Suresh Prabhu | GO m

3. ¥ Radha Mohan Singh | TTeT A g

4. <7 Witin Gadkari | g7 2w

Question Number : 17 Question Id : 3354726147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Every year, where is the 'Bhoot Mela' organized in Betul? | &g § Weder o I UAT g7 AT R ST 27

Options :

1. ¥ Rampur | 7040

2 < Malajpur | AT

2. ¥ Betul Bazaar | ey M)
4. % Simori | W

Question Number : 18 Question Id : 3354726148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
%m ERICS Smart Cities Conference was held in 2016 in | 2016 # e TAE 95T F1bd H et & T

Options :

1. % Jaipur | =%
2. % Indore | 2K
3. ¥ Raipur | 794
4. ¥ Shillong | T&em

Question Number : 19 Question Id : 3354726149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Eateswar group of temples is located in____. | e wick! w1 ap____H T gl
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Options :
1. % Ujjain | 3=+
2.« Morena | geT
3. ¥ Khajuraho | @05,
4. % Ratlam | W@AH

Question Number : 20 Question Id : 3354726150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which country won the Women's Asia Cup Hockey Championship 20177 | T Sar = AigaT Uidmr @0 grar
AT 2017 St

Options :

1. ¥ China | ==

2. ¥ Bhutan | e

2. ¥ Pakistan | UTered
4.« India | 98T

Gereral Maths and General Aptitude

Section Id : 335472169

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472169
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354726151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

& pressure cooker and a rice cooker were originally sold for Rs. 1200 and Rs. 2000, respectively. During a

sale, Chaya bought the cooker at 30% discount and the rice cooker at 35% discount. What percentage of the
total of the original prices did Chaya save? | UF WK Fad 77 UF T2 Fod 1 07 & & FAT 1200 20 7d 2000 70
gﬁamm T e & G, T Gt 1 30% B Te O 7 56 Gt 1 35% &1 §¢ U @il T1a7 = 05 e &1 Gel [oraeT

Options :

1. ¥ 325%
2. %/ 33.125%
3. ® 34y

4. ¥ 33%

Question Number : 22 Question Id : 3354726152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0

In a high school, student joins math club or science club or both, 20% of students in math club are in science
club and E0% of students in science club are in math club. If there are 15 students in science club, then the
nurrber of students in math club is___ | W@mﬁmmmmmmm@ﬁﬁﬂﬁﬁﬁéﬁz T

oTel o 30% BT TehlT etel § § S T ot & 6.0 % BT 0T el H 3 A0 Toe Foe § 15 T §, 91 0 Fetel § G121 0
T

Options :
1.9 g

2 @15
3. <7 20

4 % 25

Question Number : 23 Question Id : 3354726153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Solveajb = pjq. | @@ a/b = plq
Options :

1. ¥ ab =pg

2 %a=n

Question Number : 24 Question Id : 3354726154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number of 2 digits even numbers is____. [ 3 aThI 9 dEamalt g gE]

Options :

1. % 500
2. ¥ 499
3. v 450
4. % 449

Question Number : 25 Question Id : 3354726155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the sum of the two parallel sides of a trapezium is 16 cmand area is 48 sq.crm, then the height of the

trapeziurm is: | e U G o g FHET gorralt @ AEA 16 TEH! TAT ST 48 ariaa 8, 1 Ao S Sl _____ 2
Options :

£

1. % 3
o g

A

3 ®og
4 ® 1z

Question Number : 26 Question Id : 3354726156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

15 #23
=7

3
2
Options :
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]
—
k-2

22326

I 7 16
4. %

Question Number : 27 Question Id : 3354726157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Fill in the blanks: | Tk & & fd @1

_____ = dax-Zay-4bx+Iby
Options :

1. % dx+3y

2 v 4y-3y

3. ¥ Butdy

4 & SH-OV

Question Number : 28 Question Id : 3354726158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Find the average. | 3Hd 7T ®

19, 77, 26, 46, 12
Options :
1.7 36
2 ¥ 37
3. % 38
4. % 39

L

Question Number : 29 Question Id : 3354726159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwhat is gqe 2000th decimal digit in the decimal expansion of 15]747 | 15]74 % SyWag foea® § 2000 Samae
S T &

Options :
1. 82
2 @7
30
4, ¥ None of the above | T9H & #12 T31

Question Number : 30 Question Id : 3354726160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The number 999999 is not divisible by: | =T 9,99,999 a9 TVFT 751 7
Options :
1. % g
2 0% 11
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3% 1111
4 % 99

Question Number : 31 Question Id : 3354726161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

What is the next term in the given sequence? | &0 My 7 # 207AT U &1 ZI717
15, 100, 21, 94, 27, 88, 33, __

Options :

1. % 39

2. % 45

3. v 82

4. % 76

Question Number : 32 Question Id : 3354726162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The respective ratio of the ages of Jaya to Bharat is 3:2 now. 10 years ago, the ratio was 4:1. What will be Jaya’
s age after S years from now? | B AT & &g ¥ AT T 1Y FT SRJT FAC 3: 2 71 10 8 O I7 S0 4: 1 9m s d
S T T ST S ST AT g

Options :

1. % 18

2. ¥ 20

3. % 23

4. % 24

Question Number : 33 Question Id : 3354726163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
At present the ages of father and son are in the ratio 723, respectively. 10 years later, the ratio will be 2:1.
What is the son's present age now? | ga AT | 09T 31T IF &7 3 T SRI@ PET 70 3 81 10 T8 W79, 5 o 2 1

Options :
1. % 30
2 ¥ 2g
3. % 20
4 % 18

Question Number : 34 Question Id : 3354726164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Inn the string BEENGALUREEBEENGALUE. ... BEEMGALUE, where BEMNGALUE 15 repeated 20 tirmes. Al odd position
letters are removed first and later in the successive residual strings also. What is the last letter 1eft? | 93
BEMNGALURBENGALUR.... BENGALUR # 55T BENGALUR &1 G-Il 20 9% % 5, I9H T [eu ST alet S731 ®1 ugel
Tzl T T &R aTE o 9 argw it g7 | ot 358 g TRm S i’ arg 4 g7

Options :

Fors

1 % E
2 % L
3. ¥R
4 %G
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Question Number : 35 Question Id : 3354726165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 2 man walks § km in 4 hours, then the time taken by him to travel a distance of 24 kmis: | T ®1E =4 4 9
# 5 Toft 91 g2 9o TFT &, 91 TEF GRT 24 TRRTHICT ST 9O a9 e B T T e

Options :
1. % 10hours | 10 =

2 % 1%2hours | 12 ¢
3. ¥ 24 hours | 24 °HE
4. ¥ 48 hours | 48 ¢

Question Number : 36 Question Id : 3354726166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

15 years ago, Atul was half of Kamala in age. If the ratio of their present ages is 2:2, then what will be the
absolute difference of their present ages? | 15 =1 Qg STe THAT 9 ST § ST AN TN IeAh! oA ST T SO 2 © 3
%, 1 S9! S AT T &1 901 a7 feraqr g

Options :

1. % 20 years | 20 99

2, ¥ 30 vears | 3099

3. % 15 vears | 15 a9

4. ¥ None of the above | IWE § & T2 T30

Question Number : 37 Question Id : 3354726167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Five sweets cost Rs. 12 more than one sweet, What is the cost of one sweet? | oig Fanal & gra, UF Hew § 12
T ST B U THaTE T I Tl a7

Options :

1% 2

2.3

o i

L) QN

Question Number : 38 Question Id : 3354726168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Taj_he SU.I'% of the square root of 81 and the square of 3is equal to____. | 81 % ST ST 3 & a7 T AR
T &

Options :

1. % 3x3
2 8 3yo
3.8 3x1
4 % 336

Question Number : 39 Question Id : 3354726169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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(64)s =7
Options :
1. % 4
2. %5

5w W2

4w 32

Question Number : 40 Question Id : 3354726170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0 <
The prime numbers between O and 50 is: | O UF S0 & T2 M= GEaTaf T FE47 -

Options :

1. % 14

2 7 15

3% 16

4 %17

erneral Hindi

Section Id : 335472170
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472170
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
SIFUWTI =25 & —
Options :

1. %7

2. %9

4 T

Question Number : 42 Question Id : 3354726172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong: 0
e ©f Ty T T
Options :

1% o

3. v g

Question Number : 43 Question Id : 3354726173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
TR o & —
Options :

]
1. =57

o B F

4 @ oq

Question Number : 44 Question Id : 3354726174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
g, ST ATl 9165 § -
Options :

1. % gmM

2.

) e

4 % g

Question Number : 45 Question Id : 3354726175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

ST T 0 ® E T2 g, T U0 €0 ° e, 39 @R a-
Options :

1. &3 P..]H.'-'"r_m'xqq

2 adeae

] o

T7E & B AT

£

3
4.

Question Number : 46 Question Id : 3354726176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
YHT F Ui g e arg?
Options :

2. & T
4. % @
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Question Number : 47 Question Id : 3354726177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

T FE AT AR & W3 Uw geg e H g Ay
Options :

1. % |mr

3
4. ¥ a8

Question Number : 48 Question Id : 3354726178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

I FT A ey PR A A e arg?
Options :

1. % 3q +gd

2. ¥ Fa+ AT

3. Iq + A

4. % a1 + AT

Question Number : 49 Question Id : 3354726179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Wit @ A Jeg 77 H § P @157
Options :

2 7 ST

Question Number : 50 Question Id : 3354726180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T IO AT eg g H @ g7
Options :

1. % fEae

z
3. ¥ s
4

Question Number : 51 Question Id : 3354726181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

ere Sed | 49 W H B | A g7
Options :

1. ¥ segdhig aam

2. ¥ fgyau™

3. FHURS G

4
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Question Number : 52 Question Id : 3354726182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘IS (HeeT Gelad &1 aref g 0 & & 6157
Options :

2. © oig & g

3 % et e o wier e

4. < ST g g

Question Number : 53 Question Id : 3354726183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘ST T g 0 T W T AT e?
Options :

1. % e

2 areTEe

= ¥ ey

4. ¥ g

Question Number : 54 Question Id : 3354726184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AR TGRS )
TErgTE & STy 3 s o) Euet g | g -

Options :
1. % Ty uict et WepTe T SI|Te A1 HeldHT Zidl 8l

Question Number : 55 Question Id : 3354726185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

“FA-AT T 0T AT 9T qTn e T 5T
H @I AT AR 21 ﬂ”{TﬁTﬂMfﬁ@

Options :
1. % FET STAa

2. < JUHT STEE
3 ¥ SR aFER
4. % 2w SEE

Question Number : 56 Question Id : 3354726186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
I AT feg giaT - AmITaY

Options :
1 % aEv
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SRR =

3. < Tmg

4. % TR

[

Question Number : 57 Question Id : 3354726187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
T Meal & el oF 0T I=9eF auTl | Oiadd 51aT 51 39 2T FgT AET 5 —
Options :

£ty

2. % oy

£

4.« gH|

Question Number : 58 Question Id : 3354726188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Fieer T Ul H BT AT T -

ST A 3T AT UF a1, a1 #eu [d dca
T H T R & TR, T I T TR-aR
SR AT FHTE, AT, ST ol of U5 T

Options :

1. ¥ w9
2. <7 e g
4 ¥ gra

Question Number : 59 Question Id : 3354726189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T TH? A B 40, 5O | AR @ A1 T - H @I 6T SlFEK 8l
Options :

1. T

2 % arfgeie

3. i3 Qmﬁ_r o

4 8B ggwm

Question Number : 60 Question Id : 3354726190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
qoamE B U 9l g -
Options :

1.« o

4. % o
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Rural Econormy and Panchayat Kaj

Section Id : 335472171

Section Number : 4

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472171
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who approves the beneficiaries of poverty alleviation prograrmmes? | Tle! SHAT FRIGHT & ATAGa! B F I Tl
CEINS

Options :

1. < Grarn Sabha | T 97

2. ¥ Janpad Fanchavat | F¥0g f=&T

3. ¥ 7Zila Panchavat | @7 temaa

4 % State Goverrmnent | U OEHT

Question Number : 62 Question Id : 3354726192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Who can be a member of a Grarm Sabha? | TTH @97 FT Goed S 5 TFdT 57
Options :

1. ¥ all people residing in that village | 39 TH & GHET THard!

2. ¥ all residents who are major | w47 age® Hamt

3. < Persons whose names are included in the electoral rolls of that Panchavat | o =2id Feer 919 39 T=Ea &
BEECIGCIREIREE

4. ¥ Al people directed by Government | WEFR &2 o ad THed @M

Question Number : 63 Question Id : 3354726193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In MP, which of the following person can be elected as Chairperson of a Gram Panchayat? | #2d nea §, W
damﬁmw&r%wﬁﬁﬁ%?ﬁﬁﬁﬁgmmﬂw%?

Options :

1. ¥ Chairperson of a co-operative society | - [de THTZel BT STy

2.« i person elected directly by the people of that area | 39 &7 & @ g7 arel el e mar =aks

3. ¥ A Member of Parliament | 998 &7 9&T
4, ¥ 4 Member of the Legislative Assermbly | T2 @97 @7 d9eeg

Question Number : 64 Question Id : 3354726194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

16th Dec 17 Shift 1



16th Dec 17 Shift 1

Correct : 1 Wrong: 0

Which among the following is NOT an objective of Kisan Credit Card Schemne? | Tigfeiad & & @17 &7 forar iz
T2 =T HT Fo4 A5l 27

Options :

1. ¥ Purchase of seeds | =i &I TilZ

2. ¥ Purchase of pump sets | U0 &2 &l Tiig
2. % Purchase of fertilizers | Fet®! i @i
4.« Industrial developrment | it Ewm

Question Number : 65 Question Id : 3354726195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Whgt Was the targeted\percentagg of SC F{ 5T bineficiarigs undeL Swarna Jayanthi Gram Swarczgar Yojana ? |
e ST T TTH e TR 2T o Siaiid Sigefd A Ud Sgaed T %}:‘mw@ﬁ%ﬂﬂﬂﬁﬁﬂﬁwww

Options :
1. % 10
o ¥ 25
3. ® 33

4. % 50

Question Number : 66 Question Id : 3354726196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Who arnong the following shall be the Secretary of DISHA - the District Developrment Co—ordination &
Monitoring Cormrmittee? | FaleEg # § 79 Rar-T Eiece SoavdT &1-ATE399 UZ AT 6T ®Ha T &7 Tl 5 7

Options :

1. ¥ Member of Legislative Assembly | T @47 & Haeg
2. ¥ Member of Legislative Council | e uitwg & gega
3. District Collector | T Foide

4. ¥ Gram Fanchayat Secretary | WiH W=Ted i=ia

Question Number : 67 Question Id : 3354726197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
As per the Expert Group (Rangarajan panel), the estimated percentage of rural population below the povert

};ir%ein 2011-12was ______ | TErS HE (TR O o GaTieer 201 1-12 H TIelel G o Ak T SITeg) o 8 ;

YA U N B LV
A LV R iV
© o
Son
&R

Question Number : 68 Question Id : 3354726198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Madhva Eharat Panchavat Act, 1949 provided for a
19499 0®F __________ AT AOTTRT o T weT &
Options :

1. 7 Three - tier | FEaoa

panchayat systermn. | 7 AR =T a9,
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2. % Two - tier | e
3. % Four - tier | % w0
4, ¥ Five - tier | U &¢I

Question Number : 69 Question Id : 3354726199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The Madhya Pradesh Agricultural Warehouse ACt was enacted in ______ | e NS UHieheeil dRgTad Uae (Y
T arfert-ram) o arferi-raiag 9 mar em

Options :

1. % 1936
2. 7 1947
3, ® 1965

4 % 1975

Question Number : 70 Question Id : 3354726200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The issue of the introduction of crop insurance in India was taken up bj..r the Ministry of Food and Agriculture
in the C%ﬂtral Legislature in _______ .| VTR o e T T QERTTT T U dh T Tl B O @I ol §iy AaTe gwr
_______ GEIREIE

Options :

1. % 1936
2. %7 1947
3. ¥ 1951
4. % 1958

Question Number : 71 Question Id : 3354726201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the extent of reservation for wornen in Panchayati Raj Institutions? | T=maET T Ge=t | Algaart & o0
T & THeq T Tohar 87

Options :

1. % 20%
2. % ooy
3. v 33%
4. % 37%

Question Number : 72 Question Id : 3354726202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

__________ is entrusted with the functions which could be done at the block level and required some expertise
like agriculture, cottage industries, etc. | __________ T I WAL @ HAT ATAT & Folvg ectier a0 Topal] AT 9ad T 5 31
%q‘gﬁt T JEIT a1 T T TerdaaaT &1 s ued ! gl

Options :

1./ Janpad Panchayat | S90g d=mad
2. % Zilla Panchavyat | F@T v=me

3. ¥ Mohalla Panchavat | AlgedT T=ET
4

-

. % Gram Panchavat | TTH =T
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Question Number : 73 Question Id : 3354726203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Who is the present chairman of NABARD 7 | ATaTe o ad AT STET4 @19 57

Options :

1. ¥ Urjit Patel | IMq wea

2. % Rajnish Kumar | e §are

3. ® sjay Tyagi | s el

4. +/ Harsh Kumar Bhanwala | g4 FA T

Question Number : 74 Question Id : 3354726204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
The target of houses under Pradhan Mantri Awas Yojana - Gramin fixed for Madhya Pradesh for the year

2016-17 is between ______ .| I HAT STETE AT-TTH I & SfaTd S nea # 2016-17 F e _______ T E @
& T T 2

Options :

1. % 400000-450000
2. ¥ 3580000-390000
3. ¥ 300000-340000
4. ¥ 250000-290000

Question Number : 75 Question Id : 3354726205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which one of the following soils is found in areas with heavy rainfall, high hurmidity & largéa uantity of

%ganicmatter?xﬁaﬁ@aﬁmﬂmﬁwﬁﬁﬁmmﬁfﬁm gt # TatafET o ST uTe ST

Options :

1. </ Peat s0il | grgat (diey st
2 ¥ Laterite soil | @evTge ST
3. ¥ Black soil | @il gl

4, ¥ Forest soil | Sl 05T

Question Number : 76 Question Id : 3354726206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The monsoon airs in the COuntry reaches Eltl which coast first resulting in commencement of agricultural

activities? | HFRIAT gaTd Hell Uge! [ohd ¢ € Ug=id[ 5 faiees TICOTHEaet iy Tid [d e 3 gl 57

Options :

1. % West Bengal | TeW aTTe
“ Odisha | &iEtar

</ Kerala | 9¢a

4. % Goa | TET

o

Question Number : 77 Question Id : 3354726207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a recormmendation of Chief Ministers’ Cormrmittes on Panchayati Raj constituted
in 19977 | 1997 ¥ Tad G=Ire T T U GEaa-T |iufd &1 TFaaieies § & @ 97 U & T51 27
Options :
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1. ¥ Leave selection of beneficiaries to Gram Sabha | @I T =9 TTH T9T 0 F1S41

2. ¥ Provide adequate manpower support to the Gram Panchayats | W U=l & GgaiT & oy wig S9ake wee
AT

3. %/ Gram Panchayats to establish medium scale industries | TTH T4t &1 FEOH ST JST IiiT e & o
4. ¥ Gram Panchayat President to be accountable solely to Gram Sabha | TTH T Sfeaey S U0 49T & 60

. el

Question Number : 78 Question Id : 3354726208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which one of the following is NOT a key facility under Saansad Adarsh Gram Yojana ? | 919 e U Fi-T
ST FEETET H o B o O g i Agl g7

Options :

1. ¥ Piped drinking water | Y= IT&T U Fa
2. ¥ Electricity | et

3. ¥ Road connectivity | @&® aud

4. < Cinema Theatre | f&=mT foget

Question Number : 79 Question Id : 3354726209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which among the following is NOT an objective of Soil Health Card Scheme? | 1ge grl BIS T (HT e F12
i w1 FEEET | & T IR gl 27

Options :
1. ¥ Help farmer to know the nutrient content of soil | SFa=T & BT & OINE O] & oW H AAET &4 H GEI0dT ST

2. ¥ Recommend appropriate usage of nutrients | TNeR! & 5T UK H HATE &7
3. ¥ Improving soil fertility | T & F&vdT § g1
4. % Providing fresh soil to farmers | TFraET @1 T 52T WS FET

Question Number : 80 Question Id : 3354726210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the National Sample Survey (1999-2000) the provisional estimate of work force directly involved

inlivestocksectoris%_] ______ | TTEE AT Hd g (1999-2000) % SgER, e 59 § wedy &9 F siqiHied ®1d a0 &

Options :
1. % 18-20 million | 18-20 e

2. %7 10-12 million [ 10-12 Tafe=s
3. ¥ 24-26 milliom | 24-2¢ fBfeaT
4 % 14-18 milliom | 14-16 Toie==

Cornputer Knowledge

Section Id : 335472172
Section Number : 5

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20

Section Marks: 20
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472172
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which of the follomﬂn%%mdepmdent malicious program that need not any host program? | 594 @ a5 UFATE
1T T e 0T T 2, e Tt arear enTidsier Wiy < sfarsered T 951 gia

Options :

1. ¥ Trap doors | SUER

2. ¥ Trojan horse | g9 g9
3. % Virus | 91509

4. < worm | =T

Question Number : 82 Question Id : 3354726212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Computer in a network cannot be accessed outside of the local network unless wen EI'I'ﬂlelDH is known as: |
Heddr B #et Alhe Hodd o a5t dd q@ UPed 51 a1 =11 Q] &, e qoF [0 Se!

Options :
1.+ Intranet | Sz

2. ¥ Internet | Ze¥AT
3. ¥ Middleware | BiE@dw
4 % Modern | #IlER

Question Number : 83 Question Id : 3354726213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
What is the use of Merge and Center’ feature in MS Excel? | TATE UHdd H 09 U d2¢ Glow @7 F47 UM 5T 57

Options :

1. % It adds numeric values from two cells | 75 S Sl oF W A F A= 5
2. ¥ It joins two words frorm two cells | I &f §a1 § & gl ® igaT s

3. <7 It cormbines two cells into one cell | 7% 31 96! #1 0F 9 & Aigar s

4. ¥ It calculates total of & range of cells | Ag W@! 1 &1 @I Q0T 70T FaT &

Question Number : 84 Question Id : 3354726214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
What is the internet? | geede F4T 57

Options :

1. ¥ Hamburger Stand | 37 g2

2. ¥ Hair Piece | Za¢ e

3. ¥ world Wide Web | Trig o158 oF

4. </ Computers that are all linked together in a network | & SR ST U@ Head & TH § UF gal § J2 50 &
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Question Number : 85 Question Id : 3354726215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the Uniform Resource Locator (URELY? | - Td [ad dfded (URL) F4T 5idT 27

Options :

1. ¥ It is the email address for the user's email messages | Ig WIFdT & SHd G4 & WY SHA US2a giaT &
2. ¥ Itis the computer's address in a computer network | g #0Et Joddr H Fed FT UGS 5idT &

3 7 It is a website address eg: www. flipkart com | I UF dedge UZad &, s www flipkart com

4. ¥ It is the SIM number of the mobile phone | F AlETEA B &7 97 "X AT 7

Question Number : 86 Question Id : 3354726216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
ASCII stands for: | ASCI FTaRIL 2 ;

Options :
1. % american Stable Code for International Interchange | SMHRET Giar B8 I Se-1IH Setc
2. ¥ American Standard Case for Institutional Interchange | SHiET TE22 %6 B SEC eI et

3.« american Standard Code for Information Interchange | eMRET GEE2 ®IZ B SIHHIT Soa

4. ¥ smerican Standard Code for Interchange Inforrmation | SHRE HESE I B ot SBIHIA

Question Number : 87 Question Id : 3354726217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT a valid Zoom percentage in Excel 20077 | FAAFET # § @ UFds 2007 # AW

Options :
1. % 10
2. % 100
3. % 300
4. 7 500

Question Number : 88 Question Id : 3354726218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The device that connects cormputer or router to broadband network is called______ | T TEaee Y e AT T
Tl Higas dead SRS T8, ______ i
Options :

1. % Modem | HIZR

2. % Firewall | BTaRald

3. ¥ Memory card | #ENT F12
4 % Jurmp drive | S0 &4

Question Number : 89 Question Id : 3354726219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which shortcut key is used in MS-Word to Redo the last action? | UATE 92 § 1w @ @1 g @ & forg fem a7e-
T oAl BT FOAT T ST 57

Options :

1. % Ctrl+Z
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2 W Ctrlw
3. 8 Cirl4+K
4. 7 Cirl+Y

Question Number : 90 Question Id : 3354726220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Mcafeeisafan __________. | McAfee U _____ 2l

Options :

1. ¥ operating systern | ST Eeged

2. % yirus | 9B
3. anti-virus | Gel-amEed
4. ¥ systemn software | ey Gifeaww

Question Number : 91 Question Id : 3354726221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which one of the following keys is used to "ZO0OM IN' the desktop? | FHATARIT # & T il T IUATT SHFLT FT
T3 T 3 o1 R ST 27

Options :

1. ¥ windows Logo Key + Home Key

2. ¥ Windows Logo Key + Spacebar Key
3. v Windows Logo Key + Plus Key

4. ¥ Windows Logo Key + Minus Key

Question Number : 92 Question Id : 3354726222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Wwhich shortcut is used to make the selected text bold in MS Word? | TRUH 92 H, Hwee [ T THHe F1 a0l H
o Tl Torer iTd—are il T U T =T1aT 27

Options :

1. = Space+H
2. <7 Cirl+E

3. ¥ Shift+E
4. % Alt+E

Question Number : 93 Question Id : 3354726223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
is the basic cormmunication language or protocol of the internet. | ________ SCT-IC i OFTd S T A7

Options :

1. ¥ TCTPJITF
2. ¥ TCDP|IEFP
3. < TCP[IP

4. ¥ TCMP/|IKF

Question Number : 94 Question Id : 3354726224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong : 0 _ )
_________ iz the small area that covers small geographical area. | _____ TleT 8T 51T 5 A1 F1¢ WTer &F @ Fa

Options :

1.8 WAN |39
2.8 MAN | B9
3 </ LAN | &

4. % Bridge | T

Question Number : 95 Question Id : 3354726225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The _________ key on the keyboard is used to erase an?thm%t ed on the left of the cursor. | H-912 T
________ it T SULNT T o o1 S1C IS fo] T Sopels b1 (el

Options :

1. ¥ Caps Lock | &9 dl®

2 Backspar:e | s

3. ¥ Delete | fZ#lT

4. ¥ Cursor Control | F6C e

Question Number : 96 Question Id : 3354726226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following displays the contents of the active cell in MS Excel? | FHAWET § & #9 0AUE goFad §
e €6 W Fe-[e Harid Fal 57

Options :

1. % Active cell | Uigeq 4
2.« Forrmula bar | BTHAT a1
3. ¥ Menu bar | #{ &R

4. % MName box | =9 Fq

Question Number : 97 Question Id : 3354726227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The fastest way to Start internet browser is to: | $Ti-c HTI9C o] T HT Tael o TLF 5 ©

Options :
1. ¥ Select programs | WHTH ®T Teigre HeAT
2. ¥ Click on start button | HeTe a¢- Ut e FedT

3.« Double click on shortcut available on desktop | ZHHC O UG ATe e UX Salel Terdr o]

4. % Press windows button | gk a9 Zam

Question Number : 98 Question Id : 3354726228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The function of a roller ball in the mouse is: | AT H, T S FTFE 5

Options :

1. %/ To give signal moverment to the systern | TEeH 7% R qaHe Fe

2. ¥ For making selection | Hedad T & &

3. ¥ For connection of the mouse to the cormputer systern | HIIE &1 F0ged HHCH & Seida & o]
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4 % Toattach the mouse to the cormputer Systern | HET [OHTH @1 0139 8 T HT

Question Number : 99 Question Id : 3354726229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is an example of an operating systermn? | AT § & 219 aTieT Beeg @1 35 g?
Options :

1. ¥ Microsoft Windows | Alz@ ™t He

2 @ Microsoft Access | TTEHIETTE THET

3. ¥ Microsoft Word | AE®ET g2

4. % Microsoft Excel | ATSHRIGIFT THee

Question Number : 100 Question Id : 3354726230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT an external mermory? | WHAR T # & a7 Taged HANT 751 57

Options :
1. ¥ DVD | EEET

2. ¥ Pen drive | U9gTEd
3. & Scanner | T
4. % Hard Disk | 312 29%
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